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Which of the following do you think are the best ways of ensuring your voice is heard by decision-makers at national

QA1

level?
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QA2 Which of the following do you think are the best ways of ensuring your voice is heard by decision-makers at EU level?
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QA3 With whom would you like to discuss the future of the European Union?
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(MAX. 2 ANSWERS)
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Please tell me to what extent you agree or disagree with each of the following statements.

QA4.1

EU citizens' voice should be more taken into account for decisions relating to the future of Europe (%)
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QA4.2 Please tell me to what extent you agree or disagree with each of the following statements.

There is still work to be done to strengthen democracy in the EU (%)

(SPLIT BALLOT A ONLY)
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October-November 2020
QA4.3 Please tell me to what extent you agree or disagree with each of the following statements.
There is still work to be done to protect democracy in the EU (%)
(SPLIT BALLOT B ONLY)
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QA5 Who do you think should be actively involved in the Conference on the Future of Europe?
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(MULTIPLE ANSWERS POSSIBLE)
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October-November 2020

QA6.1 To what extent do you agree or disagree with the following statements about the Conference on the Future of Europe:
The Conference should specifically involve young people to foster new ideas (%)
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October-November 2020

QA6.2 To what extent do you agree or disagree with the following statements about the Conference on the Future of Europe:
The Conference would represent significant progress for democracy within the EU (%)
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October-November 2020

QA6.3 To what extent do you agree or disagree with the following statements about the Conference on the Future of Europe:
The Conference would have no real impact, it would not change much (%)
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October-November 2020

QA6.4 To what extent do you agree or disagree with the following statements about the Conference on the Future of Europe:
The Conference should deal in priority with how the EU could better handle crises such as the coronavirus
outbreak (%)
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QA7 Would you personally be willing to take part, as a citizen, in the activities of the Conference on the Future of Europe?
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In your opinion, what are the main assets of the EU? Firstly? And then?
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QA11 And which of the following do you think are the main challenges for the EU?
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Future of Europe
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October-November 2020

QA12 Which of the following do you think are the main global challenges for the future of the EU?
(%)
(MAX. 3 ANSWERS)
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QA13 Which of the following would allow to make the most progress on these main global challenges for the future of the EU?
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QA14 The Coronavirus crisis made you reflect on the future of the European Union:
(%)
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EE  — 21 38 30 11 0 59 41
E KB 22 38 28 12 0 60 40
L = 21 43 24 12 0 64 36
B = 23 41 19 16 1 64 35
R B 17 31 23 28 1 48 51
HR 16 52 22 10 0 68 32
T WR 22 57 14 6 1 79 20
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AV 20 33 22 24 1 53 46
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SK 20 50 23 6 1 70 29
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To what extent do you agree or disagree with each of the following statements?

The European Union is a place of stability in a troubled world (%)
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QA15.2 To what extent do you agree or disagree with each of the following statements?

Globalisation is an opportunity for economic growth (%)
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QA15.3 To what extent do you agree or disagree with each of the following statements?

Globalisation threatens (OUR COUNTRY)'s identity (%)
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QA15.4 To what extent do you agree or disagree with each of the following statements?

The European Union project offers a future perspective for Europe's youth (%)
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QA15.5 To what extent do you agree or disagree with each of the following statements?

The interests of people like you are well taken into account by the political system in (OUR COUNTRY)
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QA16 Which two of the following should be prioritised in order to face major global challenges?
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For each of these values, please tell me if they are best embodied by the EU, by other countries (or groups of

countries) in the world or by both?

QA17.1

Respect for nature and the environment (%)
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For each of these values, please tell me if they are best embodied by the EU, by other countries (or groups of

QA17.2

countries) in the world or by both?

Social equality and solidarity (%)
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For each of these values, please tell me if they are best embodied by the EU, by other countries (or groups of

countries) in the world or by both?

Peace (%)

QA17.3

mouy| 3,uo(

ylog

pliom ayy ui
$911UN0OD JBY10

uolun ueadoung ayy

020¢ "NON-1PO

8102 AON-120 -
0202 7ON-10 Ha

0¢0¢ AON-1PO

8102 AON-120 -
0202 AON-0 H1a

020¢ "NON-1PO

8102 AON-120 -
0202 7ON-10 Ha

02¢0¢ 'AON-1PO

()}

VRV ;|

11

37
54
33

10

m
n

=141

i
o

<
wn

33

BG

N
O

34
36
36
36

11

56
54
57

©
n

36
34
25

n
wn

=)
<

10

©
n

31
42

14
9

44
55

N
n

] M S B e e

=]

DK
DE
EE

—
(NN}

(%]
[NE)

o
[T

o
T E

36
24
40

~

cy

()]
mn

1
n

27
43

©o
©o

12

1
<

13

49

N
o

44
26
37
54
46

2]
<

11

()]
n

11

14

©
<

14

-12

()]
o

19

N
o

21

(2]
~

46

23
38

44
71
55

L bd DML = B

>
]

-
—

)
4

2
T

—
=

—
zZ

—
<

—
o

—
o

o
o2

)

SK

—_
L n

T34



Future of Europe

500

(@)
N
(@)
()
—
Q
0
=
(]
>
(@]
=z
L
Q
0
(@]
+—
(&)
(@

For each of these values, please tell me if they are best embodied by the EU, by other countries (or groups of

countries) in the world or by both?
Progress and innovation (%)

QA17.4
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For each of these values, please tell me if they are best embodied by the EU, by other countries (or groups of

countries) in the world or by both?

Freedom of opinion (%)

QA17.5
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For each of these values, please tell me if they are best embodied by the EU, by other countries (or groups of

QA17.6

countries) in the world or by both?

Tolerance and openness to others (%)
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For each of these values, please tell me if they are best embodied by the EU, by other countries (or groups of

countries) in the world or by both?

QA17.7

Respect for history and its lessons (%)
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October-November 2020
QA18 Which two of the following would you consider to be most helpful for the future of Europe?
(%)
(MAX. 2 ANSWERS)
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SURYA | 22 19 16 7 35 10 17 25 30 0 0 1
B B 16 24 13 8 30 14 13 24 43 0 0 0
BG == 18 13 16 6 61 6 16 31 14 0 1 1
cZ b 15 25 8 10 55 9 14 12 31 0 0 0
DK mmm 26 32 10 6 20 8 14 19 44 0 1 1
pp N 39 20 7 5 35 8 14 19 39 0 0 0
[ 15 39 18 3 39 7 21 14 36 0 0 0
I 21 31 12 12 29 7 12 25 45 0 0 0
= 14 14 17 3 40 10 27 26 40 0 1 0
ES == 35 9 17 4 36 3 19 29 24 0 0 1
R B 15 20 11 6 32 15 9 26 41 1 0 3
HR e 13 17 33 13 46 7 19 17 18 0 0 0
T Bl 8 22 29 7 21 12 29 31 17 0 1 3
cy = 28 12 9 6 37 19 13 35 29 0 1 0
AV — 26 19 15 10 36 10 16 25 23 0 0 2
LT e 15 25 10 4 56 8 14 18 37 0 0 0
W 24 22 11 9 27 14 11 20 50 0 0 0
HU 5 28 23 14 29 13 31 25 13 0 0 2
Vi | 24 12 12 11 37 4 15 23 43 1 1 2
NL 21 20 10 6 32 14 11 25 52 0 0 0
AT o 28 19 13 15 36 9 17 16 23 3 2 1
PL 11 19 25 9 46 12 17 28 13 0 0 1
T EH 18 6 18 5 51 2 28 45 15 0 0 3
rRo K1 10 8 21 21 44 14 17 24 13 0 0 1
S Ea 11 19 10 7 51 9 30 17 34 0 0 0
SK 17 22 20 10 50 7 14 22 16 0 1 0
FI 17 42 25 8 18 8 10 11 43 0 0 0
SE mmm 25 34 10 2 28 8 8 12 52 1 1 1
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In your opinion, at what level can we deal with each of the following areas most efficiently?

Employment and social protection (%)
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In your opinion, at what level can we deal with each of the following areas most efficiently?

Energy policy (%)

QA19.4

(@)
N
(@)
()
—
Q
0
=
(]
>
(@]
=z
L
Q
0
(@]
+—
(&)
(@

Future of Europe

T43



8L0C NON-10O -

~ X o © —

AUl A © un St N AN~ N — — 0 T O N

|9A9| |euoOljeU 1B 0202 AON-1O Jhg =R = RRNNRTN s T o =TT o n = YR
Kjurew o AuQ, |exo0]

. 02002MN-P0 = RIJT o002 02 I2uldrrcrl2solI3Igo0 o

8102 NON-10 -

W N Yo TYID TNy oon YNTY9nonm =Yoo ox 2N 0o
S 12A3] N3 3y3 Je 0202 "ON-120 #ha =TT YT - =l
N
Ajutews Jo Ajuo, [eso) 0202 "NON-10 - O WVWNOOWOWNOOOGOITANTTONGNO OOOGWIMN S ®OWN T ®
Mm IS AN MTONONM®NNMNANNNNNTNNTONONN-MNNM
Mouy| 3,uo( 0202 ‘A ON-"10 N OMO OO OOrrrrmMmMO MO MOOT="0rrNmMmOT~oO O

8L0Z NON-10 -
0202 AON-120 H#1a

AJuo |aA9] |euoneu ayy 1y

0202 "AON-10 Mm AN TOMNMMM®MNNTONETANNTONMNO NN~ MO AN
AON-120 -
810¢ #ON-10 M oo g YO~ AN TN N0~ NN M
> QNQN.\—OZIMUO&.NQ 1 LI B | ___________ LI N B | [ S N |
[9A9] [eUOIIRU BY] 1B Ajulen
0202 "AON-"120 ©®© W22 v rNuBINOVOVOIZIoammT Lt 2 non~<
8102 AON-120 -
o TN DT TR D 0T NY oY nTomo RO T o R RN
[2A3] [eUOREU B} pUE 0202 #ON-10 #a _ _ _
DMOLHHM\A__MDUM 0202 'AON-120 O M N O T AN DO = 0N AN ™IN O = O N N T T O YO = MmO
D N TNV IDNT OONIININGO ©F 10O Idih © O 18

810 AON-120 -

QNQN.\GZ-.BO&NQ77462587632346357..577.6472”406
[2A3] N3 3Y3 38 Ajulen :
. _ 0 M G 0 m ~ AN O Mm AN O M O NN M O N

8102 AON-10 -

N - N th ¥ ®© © thin o ®© © o m
0202 AON-10 #Ha

11

N 0O L ¥ L VKN - AN O~ T ©
Ajuo [aas) N3 8y
Soa282mn

Q1SS e ) L bd LML= B

—
&8

16

©
-

18
15
12
9
8

02¢0¢ "N ON-1PO 2

19
13
19
16
20
10

(] m un
AN Qo n~o

BG
cz

— n -]
i = Z5E232

Sl
SK
Fl
SE

= J = 2
S Z <o

cy

o
T

BE
DK
DE
EE

ULV |
i
=]
|
| 1 |
| 1|

In your opinion, at what level can we deal with each of the following areas most efficiently?

Environment and climate change (%)
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In your opinion, at what level can we deal with each of the following areas most efficiently?

Consumer protection (%)
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In your opinion, at what level can we deal with each of the following areas most efficiently?

Economy and growth (%)
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In your opinion, at what level can we deal with each of the following areas most efficiently?
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In your opinion, at what level can we deal with each of the following areas most efficiently?

Foreign policy (%)
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In your opinion, at what level can we deal with each of the following areas most efficiently?
BE

Security and defence policy (%)
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Future of Europe

500
October-November 2020
QA19.11 In your opinion, at what level can we deal with each of the following areas most efficiently?
Health (%)
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QA20.1 And in your opinion, at what level can we deal with each of the following areas most efficiently?
The digital transformation of the economy and of society (%)
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QA20.2 And in your opinion, at what level can we deal with each of the following areas most efficiently?
Gender equality (%)
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QA20.3 And in your opinion, at what level can we deal with each of the following areas most efficiently?
Taxation (%)
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QA20.4 And in your opinion, at what level can we deal with each of the following areas most efficiently?

(@)
N
(@)
()
—
Q
0
=
(]
>
(@]
=z
L
Q
0
(@]
+—
(&)
(@

Future of Europe

154



8L0C NON-10O -

S m N
o Y o o N1 o N S N W\ Y o © ™ -~ 9
[9A9] [UONEU 1B 0202 AON-10 Jha N D Rl Com T TN T =
Ajurew 1o AuQ, |e101 0202 AON-O © VW WWVWANINTO=VIINWANOGOI™S=MUWOINW®=O0 N WO & — I~
(42] N MM N F AN T AN MM AN MM AN N AN M AN M= 0N NN AN - NS

8102 NON-10 -

© N O~ O MNNWLVWYoO O T Mm AT MY NYNONT NN TN
3 19A3] N3 BY 1€ 0202 7oN-10 #a "l _ _ _ _ _ R
n Ajutew 1o Ajuo, |erol
: ' . - N ONN I I O NANOGO O MO AN O 0 0 I1n N O © o m o
ONON>OZHUO 1211127111111212211132"11117
mou 3uoq 0202 AON-10 N O NOrrr-O0OOrrr+~NONONOOT™"S2 o0cramororx«

8L0Z NON-10 -

A|uo [9A3] |eUOBU Y} }Y 0202 #ON-120 #d

0202 'AON-120 N S0 VWO WVWOMUOIMoouvwmnINNmMasT~s2 oanoa N0

8102 AON-10 -
0202 7ON-10 H1a

[9A3] |euoieu By} 1 Ajulel

. - m N O O MO ®OMINEONO Ot ONTT=—==mooan~NNTAN
0¢0¢ "AON-PO N AN MmN e ANANANNN=AN~TAN~MANANN™ "~ m <

8102 AON-10 - o
o T o OV Y N~ o o = (S} N N < ©
|2A3] [euoneu sy pue 0202 AON-120 #a T R R i R B A D
N3 ays e Ajjenb3 0202 “AON-10 - ST MNANO O W=+~ OOWOWe=N—=IWIL ONOOI MANINO L
1N 1N & S F T TN IDO T NI O INT NS N MO O IDT T

8102 AON-10 -
0202 7ON-10 Hia

|9A3] N3 9y3 1e \A_C_m—\/_

11
13
9
8
11
15
5
13
13
7
10
12
10
8
10
12
16
13
16
10
18
15
9
11
12
8
7
5

0¢0¢ 'NON-1O

8102 AON-10 -

. . © — M N OO T OMN=—moo NN TMTOM= === O —~
0202 AON-10 g

Ajuo [aas) N3 8y

o <
= R RN VRRT, R SRR R R

R I LT L= R B
® — g L 1]

~
(%]

10
5
3
5

0¢0¢ 'AON-120 © N 0 o %

= NAZNN WS H=

—1 n
_LILE_LLF

10
2
5

<t N O NMmM

12
8

~

BG
cz

D= Jd k- 4 —_ — W
= WUNHMNAPWWS L n

cy

o
T

DK
DE
EE

Ll
o

Education and training (%)

ULV |

QA20.5 And in your opinion, at what level can we deal with each of the following areas most efficiently?
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QA21 Taking a longer view, if you picture the EU you would like to see in ten years from now, would you prefer? An EU with...
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QA23 Each European political family can choose a lead candidate before the European Parliament elections. Such lead
candidates can play a prominent role during the campaign all across the EU and can be the candidate of their political
family to become President of the European Commission. Are you in favour of such a process or not?
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T El 9 58 1 2 20 67 13

rRo K1 18 50 17 6 9 68 23

S| 12 60 18 9 1 72 27

SK 12 51 22 6 9 63 28

FI e 9 54 27 9 1 63 36

SE mmm 5 39 38 13 5 44 51

157



Future of Europe

500

October-November 2020

QA24 In the last European Parliament elections, EU citizens could vote for lists in a national frame. For example, an EU citizen
living in (OUR COUNTRY) could vote for a list in (OUR COUNTRY). It is currently debated that in the future EU citizens
could have the possibility to vote in addition also for transnational lists. Such lists would gather candidates from
different EU countries and all EU citizens could then vote for the same transnational lists. Do you think that this would
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QA25.1 To what extent do you agree or disagree with the following statements regarding the fact that the lead candidates
chosen by the European political families could become the President of the European Commission (according to the
European election results):
It would represent significant progress for democracy within the EU (%)
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QA25.2 To what extent do you agree or disagree with the following statements regarding the fact that the lead candidates
chosen by the European political families could become the President of the European Commission (according to the
European election results):
It would bring more transparency to the process of electing the President of the European Commission (%)
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SE mmm 14 49 21 8 8 63 29
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QA25.3 To what extent do you agree or disagree with the following statements regarding the fact that the lead candidates
chosen by the European political families could become the President of the European Commission (according to the
European election results):
It would give more legitimacy to the European Commission (%)
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QA25.4 To what extent do you agree or disagree with the following statements regarding the fact that the lead candidates
chosen by the European political families could become the President of the European Commission (according to the
European election results):
It would have no real impact, it would not change much (%)
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QA25.5 To what extent do you agree or disagree with the following statements regarding the fact that the lead candidates
chosen by the European political families could become the President of the European Commission (according to the
European election results):
It would prevent Member States’ governments from choosing the best candidate for the job (%)
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QA25.6 To what extent do you agree or disagree with the following statements regarding the fact that the lead candidates
chosen by the European political families could become the President of the European Commission (according to the
European election results):
It would only make sense if EU citizens were given the possibility to vote for transnational lists (%)
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QA26 Generally speaking, do you think that (OUR COUNTRY)'s membership of the EU is...?
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QA27 In the past six months, would you say that this image you have of the EU improved, got worse or stayed about the

same?
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) Q 2
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£ g 2 s
= (G} 5 a
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wm
cv27 B4 13 26 60 1
B N 12 31 57 0
BG = 14 19 65 2
cZ b 10 29 61 0
DK mmm 8 12 79 1
pe N 11 28 61 0
EE - 7 19 74 0
1. 28 13 59 0
L= 11 27 62 0
B E 12 24 64 0
rRrRR 6 34 59 1
HR 17 17 66 0
T WR 20 28 51 1
cy = 14 29 57 0
AV —— 9 14 76 1
T 18 17 65 0
LU 11 43 46 0
HU 27 16 57 0
Vis | 17 22 52 9
NL 7 20 73 0
AT o 13 25 60 2
PL 18 22 60 0
T ER 27 6 66 1
rRo 11 24 29 46 1
Sl G 12 22 66 0
SK 11 28 61 0
FI 8 30 62 0
SE mmm 6 21 73 0
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QA28 To what extent do you agree with the following statement: the EU should have more competences to deal with crises
such as the Coronavirus outbreak?
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QA29 Which of the following statements regarding the European Union is closest to your opinion?
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In general, how satisfied are you with the measures taken to fight the Coronavirus pandemic by...?

The (NATIONALITY) government (%)
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In general, how satisfied are you with the measures taken to fight the Coronavirus pandemic by...?

The European Union institutions (%)
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And what should the European Union now prioritise in its response to the Coronavirus pandemic?
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And what should the European Union now prioritise in its response to the Coronavirus pandemic?
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QA32.1 How effective or not do you think that each of the following measures decided by the European Union is, to respond
to the economic effects of the Coronavirus pandemic?
A recovery plan of 750 billion euros supporting the economy through grants and loans (Next Generation EU)
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QA32.2 How effective or not do you think that each of the following measures decided by the European Union is, to respond
to the economic effects of the Coronavirus pandemic?
EU financial support to keep people in jobs (%)
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QA32.3 How effective or not do you think that each of the following measures decided by the European Union is, to respond
to the economic effects of the Coronavirus pandemic?
Allowing national governments to make public deficit to support the economy in these exceptional
circumstances (%)
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QA32.4 How effective or not do you think that each of the following measures decided by the European Union is, to respond
to the economic effects of the Coronavirus pandemic?
Public subsidies to companies that face difficulties (%)
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QA33 The Coronavirus pandemic fundamentally disrupted tourism and the travel industry in 2020. The pandemic, combined
with the effects of climate change and the digitalization of economy, may lead to long lasting impacts on travelling and
tourism in the future. When it comes to your future travel choices, do you plan to do any of the following? You can
select up to three answers.
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QA33 The Coronavirus pandemic fundamentally disrupted tourism and the travel industry in 2020. The pandemic, combined
with the effects of climate change and the digitalization of economy, may lead to long lasting impacts on travelling and
tourism in the future. When it comes to your future travel choices, do you plan to do any of the following? You can
select up to three answers.
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SD10 During the last twelve months, would you say you had difficulties to pay your bills at the end of the month...?
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SD12 Do you see yourself and your household belonging to...?
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SD13 On the whole, are you very satisfied, fairly satisfied, not very satisfied or not at all satisfied with the life you lead?
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When you get together with friends or relatives, would you say you discuss frequently, occasionally or never about...

National political matters (%)

SD14.1

Mouy 1, uoQg 020¢ AON-10

0cocwns -
0202 1ON-120 H1a

JanaN

02¢0¢ NON-IPO

020Z'Wns -
0202 7AON-120 Hha

Ajjeuoisenn

0¢0¢ 'NON-1PO

0cocwns -
0202 1ON-120 H1a

Ajpuanbauy

020¢ NON-IPO

56 20

24

SURYA |

17
12
12
15
10
8
12
7
36
33
23
17

64
49
58
60
52
52

61
61
46
49
63
55

NN T O~ N O~ 0 0 T 0
N N AN MM MmN F ™= = = N
= 1AM Y HSHS
- T A HIB R | —
o] N ¥ w 1 n x

BRUOsodHEeadETE

31

50
59
64
55
66
51

19
15
21

Ccy

26
15
15
16
14
13
12
17
36
28
17

30
18
26
36
28
16

-12

-10

14

51

60
66
55

56
66
66
61

16
17

12
20

11

57

22
19
32

B bl LT E = B

>
|

-
—

o}
'

)
T

—
=

—
P

[
<

—
[a

[
o

O
<

n

Y — W
n L+ n

782



Future of Europe

500

(@)
N
(@)
()
—
Q
0
=
(]
>
(@]
=z
L
Q
0
(@]
+—
(&)
(@

?

SD14.2 When you get together with friends or relatives, would you say you discuss frequently, occasionally or never about...

European political matters (%)
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When you get together with friends or relatives, would you say you discuss frequently, occasionally or never about...

Local political matters (%)
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At the present time, would you say that, in general, things are going in the right direction or in the wrong direction,

SD15.1

(OUR COUNTRY) (%)
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SD15.2 At the present time, would you say that, in general, things are going in the right direction or in the wrong direction,

?
The European Union (%)
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At the present time, would you say that, in general, things are going in the right direction or in the wrong direction,

SD15.3

?
The USA (%)
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SD16 In general, does the EU conjure up for you a very positive, fairly positive, neutral, fairly negative or very negative image?
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On the whole, are you very satisfied, fairly satisfied, not very satisfied or not at all satisfied with the way democracy

works in (OUR COUNTRY)?
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Please tell me to what extent you agree or disagree with each of the following statements.

My voice counts in the EU (%)
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Please tell me to what extent you agree or disagree with each of the following statements.

My voice counts in (OUR COUNTRY) (%)
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SD20 Generally speaking, do you think that the life of those in the EU who are children today will be easier, more difficult or

about the same as the life of those from your own generation?
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